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y =

√
64 − x2

1 − log6(x + 2)

H
*-IJ12KL3517M8.0>
x ∈ R

G
9x + 3x+1 − 18 ≤ 0

N�*-IJ12KL3517M8.0>
x ∈ R

G
log0,4(2 − x) ≤ log0,4(1 − 6x)

O *-IJ12KL3517M8.0>
x ∈ R

G
2 sin x − 3 cos2 x − 2 = 0
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x ∈ N
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x − 2
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= 66
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=
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x2 − 26x + 25 = 0

f
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AB

*
A[2; 1]

m
B[3; 2]

m
C[1; 2]

m
D[1; 6]

*
)g}�*-,-.0/214351~f
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p : x − 7y + 25 = 0
U�DTB8i212h<>+j012/rDZY

k : x2 + y2 = 25
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y =
x

1 − log(x + 6)
+
√

49 − x2

H
*-IJ12KL3517M8.0>
x ∈ R

G
4x − 7 · 2x+1 − 32 ≥ 0

N�*-IJ12KL3517M8.0>
x ∈ R

G
log0,5(2x − 5) ≥ log0,5(x + 1)

O *-IJ12KL3517M8.0>
x ∈ R

G
2 sin2 x + 5 cos x + 5 = 0
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x ∈ N
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)
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)
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x2 − 42x + 405 = 0

f
h<>+i4351VP�/2=<j012hn3lUFDWm�UF?TYbj|:8;<X�;
30f+>+d0;<h_YqUF.0;_35X�1435;_ErDF>+BsM@>+j0h<>+B8M8:8>+jL3t*

u�*-vRUFM8;<KL351~.5>gf
:8;<E2;�M8d0=<X�DZY+m�DZ3512.5x�M8.0>
Ely�xFc2=#M8.0�8j012/2=<DF12X�M8d0=<X�12D
p
U

q
U�SL1

.0>gf
:8>+?@�2i2:�x�jJM8d0=<X�DF>+B
r
*

p : x + y − 3 = 0 q : x − y − 1 = 0 r : 2x + y + 1 = 0
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p : x + 2y − 6 = 0
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k : x2 + 2y2 − 18 = 0
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